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WEST BENGAL STATE UNIVERSITY
B.A./B.Sc. Honours 3rd Semester Examination, 2020, held in 2021

ECOACORO06T-EconoMICs (CC6)

Time Allotted: 2 Hours Full Marks: 50
The figures in the margin indicate full marks. aNfer T F0Z T IMo Q"Y/VW fac T
Candidates should answer in their own words AT TS ST I AET XTI N
and adhere to the word limit as practicable. s R

All symbols are of usual significance.

I. Answer any five questions from the following: 2x5=10
fafeiie @-ieal #fipfs elvas Ted wiss
(a) What is money illusion?
“GeffREw @i [ @il 2

(b) What is meant by search unemployment?

S PRHAG S ([PRG P G 2
(c) What is inflation tax and who bears the burden of it?

TYWIFIS I FICE A0 9 P G2 FTOR 724 IR 9

(d) Suppose inflation rate is 2% and nominal rate of interest is 6%. If inflation rises
to 10%, how the nominal rate of interest has to be changed to keep real interest
rate unchanged?

@ AT JEIFIST 29 2% € AN TR 7F 6% | JWrFIfen 27 @08 10% 2@, aF©
A TR TS A4S ST Hra 29 FO0! I TR 2 9

(e) What is Pigou effect?
e 2eiq Fe10e T @I 9

(f) What is meant by neutrality of money?

TG GO XS] FICF 0T 9

(g) State and explain Say’s Law of market.
‘o7-a9 [ e e it el

(h) Under what circumstances disinflation can be painless?
& fo wffEfore SETHife T2 20 7t ¢

2. Answer any four questions from the following: 5x4 =20
T @-ieal 5o eie Ted mies
(a) What is meant by Classical Dichotomy?

P frogaiv Ie1ce F @I 9
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(b) What are the Keynesian reasons for downward rigidity of money wage at the
subsistence level?

@I org AT TG Ferow WA e s Tk sree & &5 9
(c) What is stagflation? Use AD-AS model to explain stagflation.
‘o FrRife” »fREfe & ¢ e vifent-cae sces qmt #f&ERsT i F@n
(d) Explain how current price level is influenced by current and future money supply.
FS WIS fFeld IO @ SRye T @i 7[l ereifiie =7 i Tl
(e) Why the aggregate supply curve vertical according to classicals?

TR WO ANMEF @9l @A (o S = 9

(f) “With rational expectation neutrality of money always holds true” — Explain.

IR eroTE CFCa W YUK 2SR 1ol FIFa| 2 — I I |

3. Answer any two questions from the following: 10x2
fasfrie @-cee 7 et Teqwies
(a) (1) Using sticky-price model, explain how can you derive a positively sloping
Aggregate Supply Curve.

FE-H WOEE AR [FOIE GANF e ANET @ @ @@ 90 I
@8 |

(i) How can you derive Phillips curve from Aggregate Supply Curve?
AfEE @i @2 @eF [FoiR fFfers @2l fogmo F9 ¢

(b) What are the social costs of inflation? Discuss the costs of anticipated and
unanticipated inflation.

JRFFIfeR e 7 FWIcs F @RI ¢ SFghe Jurefe @k S Jureiion el

o AT

=20

6-+4

3+7

(c) Define Phillips curve. Show that short-run Phillips curve is downward sloping, 2+6+2

while the long run Phillips curve is vertical. Under what circumstance the short
run Phillips curve can also be vertical?

fRrfort @R el wie | (T4 @ FHPIE o @G e Dlermin 2eere TEics ol
T T 49 S| 6 wifiFEiore weiee Referst qaiie Te 2re i 9

(d) What is ‘Natural Rate Hypothesis’? Justify the adoption of policies like fiscal and
monetary policy in the face of ‘Natural Rate Hypothesis’.
Teiie YET &9 & 2 e QEa eaEe el aor ¢ wifds Jfea T
FREFAFIR WidE Nfeq @fewet i T

N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp to
their own respective colleges on the same day / date of examination within 1 hour after end
of exam. University / College authorities will not be held responsible for wrong submission
(at in proper address). Students are strongly advised not to submit multiple copies of the
same answer Script.
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